D0 MYRID'T 1YRT ORI nn’Ia naon M AT TIOY Y BT

34.2.2
9b (22 wn) > 10b (D 25 175 K917 7175 TR R0 D71 )

2,7 87p7:10970 PR R2IN INNY D2 YIZND NP AR NRE .
25,7 #7777 :I01002 17 YYD KD YR NYIX Y2 72 YR N0 NRE .
2 473103222 IR 9212 DTSN NVR NRE NT IPRN NIV Y 9921 N 9% 12Mpn) .

7,2 87377:7700 T YV IWR DY NYY) DY DOWY) ANTID DYIY RNV 190 N2p) TR .
7,22 8777111700 M0 RO TY RN KY YTPH YR MIN XY WP Y22 NNV NTI 2WN 070 NYHY DY DY .

I 23 mwn: (continuation of list of 1 j127p for multiple incidents) ymxm nvo
a /v if he warned her about multiple men and she was secluded with each of them
i Source: v. 1 MRIPN NN - one MIRIP NNIN
b y71¥m: who had more ooy»n (after nnv)
i Source:v.2-yMmxnn NN — one NN for multiple My x
¢ If:he had more noyn after the 09y, not considered a new event if before he brings his nxon
i Amm 7 point of demarcation is offering of owr
ii ~ Clarification: last clause (NRYN vs. DWR) is about what point determines his financial statusf
1 Background: y1¥n has sliding scale of 129p, based on his means
2 Associated (82 : 7 o923): y¥0's status determined at moment of nRYN per w™; NTI 7 — at moment of DWR nNXan
(a) &rr7330"aRa — follows status at time of pyay
(b) Explanation: all three interpret v. 3 — 1nnva
(i) w”r that which expiates (nxon)
(if) /772 7. that which allow him to proceed (with nw7p) — DR
(iii) »7an57 that which leads to his nanv (1Max)
II 17 mwn: (continuation of list of 1 129p for multiple incidents) a woman who has a miscarriage during 7mv »m>
a  If: she had a nban (female) during 80 days of n1nv (for girl), then again during 80 from 24 incident — 1 j27p
i Source: v.4 -1 127p for multiple mm5
1  Note: not extended to n1% which takes place after nkon ("mv 1) (after correction of ®n» 1) — per nxr
b Similarly: if she had multiple births from one conception, each within 80 days of last (female) — 1 127p
¢ /777’7 nojap for #2, but 129p for #3, no 1217p for #4 (i.e. “clock” isn’t reset with each incident)
Il Analysis of i ’7’s opinion
a  Observation: N *1 maintains that the first birth’s “clock” continues; n'nan hold that it is final birth that sets period
i Challenge: this is obvious
1 Answer: R0 that if one pregnancy (per X2°0) N> ' would agree — %"np
ii  Question: what would nm» 1 rule vis-a-vis nRPIV?
1 Lemmal: he only “ignores” 2nd 19n for 127p, but she keeps nrmv »m in the middle of 9mv "1’ and then completes
2 Lemma2: he would only apply xmnY, but not to allow her 7mv »m» for the 1% beyond the 80 days
iii  Proposal (87101 82177 77): R:1 ©'NOA "OIN —NT9Y included (779 PN nvNw) on 40t day for boy or 80™ day for napa
1 Challenge: she’s still nknv on day 40/80
2 Answer (n79): authored by nmn’ "1 (case is twins born a day apart; this is day #40 to 2nd)
(@) Conclusion: nmn "1 holds that 21w 191 isn’t there at all vis-a-vis nkmv
(b) Rejection: 2w 75n may “count”; case is NRNVA RN NOA
(i) Challenge: n19v (and a1 etc.) doesn’t eat NxNLI K11 NOY
(if) Answer: they don’t eat without n%2v; in our case, she already went to nmpn
1. Question: if so, she should be fit from day #8
2. Answer: he holds Dy 9120 of a1 (:n79v) is a ar (this is extended oy 9120)
a.  Challenge: then she shouldn’t be fit on day #40 either
b. Answer: he holds 03 7010 of ar (::nT9v) is not a ar
(iii) But: to 817, who holds that ar1 71193 90NN is a a1 — how can it be answered?
(iv) Answer (?wx 27): R11 would explain it as being day #40/80 of conception
1. Per: 5Rynw 1 — for 131, she gets 41 days, for napi — 81 days
2. Challenge: in any case, she’s nT1 RNV
a. Answer: might have been “dry” (bloodless) delivery
b.  Teaching: that it is possible to have womb open without blood
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iv. Proposal (77ppw *9): interpretation of v. 5 — by ww must be consecutive
1 Must be: according to N’ *; to1117, no possibility of “non-consecutive” as last birth resets calendar
2 And: since he insists on consecutive days — he is 7nnn (not allowing interrupting nkmv " to extend 1Mo )
(a) Rejection: could be 1127 — case where she “birthed” male within 80 of napa
(i) Challenge: in that case, 80 aren’t complete when she completes nkmv ' of 1t (no &9 here)
(b) Rather: case where she had twins, 15t a nap), then 931 in midst of 7mv " for nap
(i) And: she needs to keep 7 days of nkmv in the middle of her 71mv »m>
(if) And: Rn»91is considering whether she should keep nkmv »m> in middle and “split” amv >
v Proposal (»2n): interpretation of v. 6 - DW5w must be conseuctive
1 Must be: 7T 1 2 he isn’t Ypn with 20d 951
2 swN "1 brings associated nw1T from DN’ NV (v. 5)
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